RIODR1Ya cor

Hi# Tnl INadr Sheet Aok T (rmstion Papes Rermistmeiit Hrws

i GCENERAL KNOWLEDGE
oy The wavciength of violet colour light is Q1 &= ¥ o wEETIT O rr‘i‘lrﬂ'ﬁi I
1 -ilb'ﬂ“[_ —_— — Eﬂ_ﬂ ﬁ I
(A) 10- 11 pm (By 1-10mm (Ay 10 - 11 pm (B} 1=10mm
" [icy @55 - 390 nm | (D) 230-310pm | [ccy 455 - 350 nm] (D) 230 - 310 pm
32 Butter is un exampleofn | 02 Ao & FETeee B |
(A] suspension Ay e
(B} colloidal solution ;
[ i | 4
(D) amaleam 3
Q3 Which ol the following salts will NOIT 03 e A O ey maer § e 99 @
have 10 molecules of water of 10 2] il g7
crystallisation? (A) =y diee  (B) difdin WS
(A} Glauber’s salt (B) Washing socla (C) srEw (D) yud Hies
(C) Borax ([¥) Epsom salt
Q4 Who founded the Allahabad University in Q4 i iear § goneTary Aeoftema o
18877 syl (el @ P
(A) Dr. Sarvepalli Radhakrishnan (A) S e I

(B) lonathan Duncan B) SAFTEA SaE
[(C3 Sir William Muir | éc! Y [ares % |
(D) Madon Mohan Malaviva .|I (¥ -1 HIeT

5 The first woman Chiefl Mmutcr‘ was Q5 ﬂﬁm ﬂmgi L 19&;; ﬁgﬁﬂ'

appointed in 1963. Which Indian state ol i
|E|:wzm|m.nl did she lead? HT} T L) u.‘*:rmr (B) offra=rg
(A} Uttor Pradesh |(B) Tamil Nadu (Cy GTTem F9Te (D) arerm

(L) West Bengal (D) Assam
Q6 U9 2017 W UEN URY @ qemwd & wy

Q6 Who was clected as the Chief Minister of A # g Ty A
Lttar Fradeah in 200177 Ay T e b B et |
A labh Pant | (@) Toh R |
(B) Yogi Adityanath (C) WEen a=a
“Akhilesh Yadav - (D) wmanEd

EE‘J Mn;.-'awﬂ:r .

S5 ’ g7 Frerfefa % @ o @ ow awr o

3]1% of the following is the state bif i ?Ilt'rr &7
ttar Pradesh? | (A O (B ; -
,Pﬂrrc-: (B) Eagle () iR () " | 5 f _
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Q8 ~ What was Uttar Pradesh known as from (28

the vear 1937 = 19507

/ (A) Utara 1
] (B) United Provinces

(C) Uttar Province
(D) Ram Krishna Pradesh

Q9  The Kailash Fair is celebrated in honour Q
of L.ord Shiva in which city of Uttar
Pradesh?

(A) Agra

(B) Varanasi
(<) Kanpur
(D) Lucknow

QIO Which ofthe following is the longest canal Q10
of Uttar Pradesh? ;

(A} AgraCanal

(B) Sharda Canal
(C) Upper Ganpa Canal
(Y Lower Ganga Canal

ad 1937 | 1950 T I qo el W [
A @ S o e

(A) T

[i) g Wi |

(C) S Wi

(D) ¥ T L9

Gy g @ e wE H T fi
ﬁmﬁﬁﬁﬁmﬂﬁr:&nﬂ’iﬁﬁﬁa‘mmﬁ

IR g2y § wAY A e B ¢
(A} FTTRT FEX
(B) IM¥GT A8
(C) FTT 771 B
(D) Fyareft 1 w1ew

} %_QH Inwhich year did Uttarakhand come into Q11 frer o aifire & aman o
" = exisience? 4t} 23
: TR 200G (B) 199)
__.. ) 1991 (C) 2016
& © 2018 (D) 201
s (D) 2011
I-in 1930, CV-Raman won the Nobel pri;.'e Q12 1930 3 WA e Y -
o : I R My J
1{: letature - (B) Peace (A) Hifeeg mixy
2 () Physics (D) Economics |{c1|'111%|ﬁ e EE:; I o
: ¥ }
acollection Q13 ey v .
% Fﬁm T WY #

L




015

6

Q17

Q18

JOBRIYA.COM
Qld  eftgerm awm gr e 7 arad sidor

ame the last poem written by

pvanshrai Bachchan.
rfl,i.i;r Ek Novermber 1984
(@) Chal Mardane
(C) Do Chattane

(D) Agneepath

The blond group system was discovered
by - :

(A) Friedrich Stromeyer

(B) Karl Wilhelm Scheele

(C) William Murdock
(D) KarlLandsteiner |

. is a computer worm that
targets industrial control systems. It
attacked lran’s nucledr program in 2007,
{A) Conficker (B) Stuxnet
(C) Zeus (D) Sasser

The strait between Tamil Nadu and the
Mannar district of Sri Lanka is called

(A) Strait of Malacea
(B) rait

{C) Sunda Strait

(D) Maliku Kandu

Which of the following states of United
States of America does NOT share a
boundary with any other US state?

(B) Alaska

(D) Maryland

{A) Florida
(C) Rhode Island

WL Jg e
ELT Ui TavN 1884
(B) o& #Rar

(C) =1 =z

(D) aifPoer

Q15 a0 WIE T @ @ A

Qe

Q1Y

Q19

(&) WER® Wi

(B) @ faceen i
(C} faferr st
ECESSED

e HER T & o JEfE
Prafzro womrelt 1 Fremn e €1 g
2007 1 #9171 % AT T TR ST

febam e
(A) wiAfHRR
(C) ¥

(B) WHHIT
(D) HEw

3 siwer @ ww B &
drg Hiog W By El S
8|

{f:}ﬁmm

jobriya.com (D) e

Qg fmffim A @ WgF o AR @

fpw v ) WM I & et
g1 o & WA P R A T w
7

(A) Tl (B) HeATe

(C) wre amgae | (D) HReg

g o dfterd T SR STy o
yr p B

{.ﬂi}' E.I'E’F’*ﬁﬁ-” _L.I_ _1 A,
(3) FTie Sh
(C) i”ﬂdﬁ

\D) gmEEs M, e 0
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o2 Which of the following is H{_}T one of the
smirates of United Arab Emirates?

g0 PRt 9 B 1 IR arw g
o TE AN TE 87

| {A) Muscal (B) Dubai L) I (B) g
(C} AbuDhabi (D) Sharjah (C} 3 (D) s
Q21  Which one of the following is the capita| Q21 fr=fefa % & #19 ML i
of Bahrain? AR &7
(A) Ankara (B) Broha ) STPTRT (B) =rer
(C) Manama (D) Beirut (C) 7 (D) a%m
Q22 was the first woman speaker of Q22 el Afear GlEa
the Lok Sabha, ezer of |
(.:""n".l Sushma Swa j (A} | TN
[(B) Meira Kumar (B) 4N TR
TCT Pratibha Patj| (C) WioHT qrieer
(D) Sumitra Mahajan Jobriya.com (D) = Herem
Q23 The Sepoy Mutiny of the 1857 War of Q23 <aefsmn A 1857 FT ROt R f
Eﬂrjiﬂdﬂ"w happened in which city? e ¥ gaT U
ansi (B) Hvde ' .
B vk :: d (A) Hied (B) Bawmms
) (C) Feeeh (D) *wm
b, |
g W24 The traditional snaek “Kh I J URARE SemEN i) P
dvi’ 024 - :
E associnted with which Indian s::a‘z'” > . o wWafg #7 i v
(A) Gujarat (B) Karnatak:, {A) AT et
C) West Bengal (D) Bihar S : (B)
R=9 AT (D) faEw

Q25 Name the firsi Hindi-language n EvWSpaper

P - of India, first published
et | ; on 30 May 1826
! “A) Dainik Bhaskar i |

T3 \E) Udant Martang |
L :
:L- atrika

(D) Deshbandhy

r Ju

b’ “Fra" -.1\!':" “: ‘- i - :
|"'l i %lﬂ.-h.'br“‘ ?
B8 Whic f :
st o e SN ilding
g OF wheat that coitribugeq (o

LI




preparcd the initial draft of the Indian
nstitution in February 19487

) Beohar Rammanohar Sinha

(B) Nandalal Bose

(C) Shyama I'rasad Mukherjee

IJ'E‘J'} E:n:gnl Narsing Rau |

t Umaid Bhawan Palace is in which city?
(A) Udaipur (B} Jodhpur
(C)} Musuru (D} Jaipur

Lavani is a famous folk-dance farm of
which Indian state? i
{A) Uttar Pradesh
(C) Sikkim

(B) Maharashtra
{D] TamilNadu

Which was the last vear when the Rail
Budget and the Union Budget were
presented separately in India.

Q27

(28

Q29

Q30

JOBRIYA.COM

sl 1048 ¥ WRdim Wi & IHOE
e @ e &g fsar en?

(A) =ER TrrmEy fHE

(B) "eene o

(C) TETHIYTE e

(D) e TwheE 9]

i wom e e oee & Rem &7
(A) a9 (B} SETR
(C) (D) PR

ot e vt weg &1 g
- &7
(A) S e |(B) WENIS
(C) ffirm (D) T g

a8 T | aifem o e, e AN W Y
Taie affT HET Toe AT W
i @ an?

(A) 2016 (B) 2012 (B) 2012
(C) 2008 (D) 2004 (C) 2008 (D) 2004

jobriya.com

 Who was the first de facto Governor-
- General of India fom 1773 to 17857

S |(A) Warren Hastings
(B) Lord Minto

(C) Georpe Watson
(D) William George Wallker

E The lm'e.ﬂmcm [nformation and Credit
1‘_‘ﬂdll'lz Agency (ICRA) has its
hﬂ'ﬂquarters i
o { Mhat

(B) Eengalum
(D) Chennai

Q31

e 1773 W 1785 T T WG @ gEel
e @ &2

(A) arF efiem™

Q32

Q33

(B) e fieY
(C) wifat aea
(D) faferm et dfsw

P ) ol e YT TRl (ag
HLARX) T AT LAY
(A) T (B) ¥

(C) T (D) 1§

e e A Pt | # ey dg
rﬁqﬁﬁaﬁmﬂuwﬁmﬂ
(A) Wi E




Q35

B L afaanes

The fiest covil airport of which Indian state

was inaupurated on September 20187

(A) Sikkim

(B) Mizoram

(C) MNagaland

() Manipur

The first Defence Minister of ind ependent
India was

(A) Kailash Nath Katju
(B) VK Krishna Menon

(C) Baldev Singh |

(D) Yashwantrao Chavan

The island which has Sardar Vallabhbhai
Patel’s *Statue of Unity' is located in which

river?”
(A) Narmada | (B) Sabarmati
(C) Tapi (D) Mﬂh_i :

Q37 Pollen is produced in which part of the

Nower?
(A) Ovary (B} Ovule
[(C) Anthers | () Pistil

Q38 Which bacteria are oval-shaped or
spherical?

{A) Escherichila ol

(H4) Coceus

o 1C) Bacillus

o AD) Vibrio

B [ go1n o un siedva oo

Q35 Tgei= e & uEe 3 u g

Q36

Q37

jobriya.com

Q38

JOBRIYA.COM

A faspereest an sy B "
G |
[(A) Bl y
(C) <o

(1) faomm
(D) #frye

(A) deArar = e |
(B} VK g #4

(C) aeea fig

(D) Zeraeaer wer

TG Tl 9ed 91w e s
fo, &1 uv flewr ow gy 0 27

(B) wravs

(C) = (D) 7

o & e B 4 e om were

BT 87

(A) PETIT (B) 4o

(C) RPN (D) gm-afy

T W A, sfETER A Teen B
&7

(A) viffEa Fram

(B) @rmd

(C) e

(D) arsfagl



iler bought 7 articles forz10 each, 9
es for T11, 14 articles for T15 each,

e JOBRIYA.COM
NUMERICAL ABILITY

039 ¢ Hew fagar 3 2109 g3 W 7 TRl

T ® avH o awgy, TSP WY 14

the selling price per article if the profit TN =0E | aw] fAm oy 5
supposed 1o be 20% of the AVerage cost g 71 @ & i afve e ™=
rice. 20%, @™ BT iRy |
A) T15.16 (B) 215.20 R) 21516 (B) ¥15.20

{0 T15.24 (D) 215.28 (C) 715.24 (D) T15.28

A and B can complete a 1ask in 12 days, B Q40 A afw B, 12 f&=f & e & L GRET
and C can complete the task in 16 days, A Y € Bafv Caf wrq 16 et & ol
and C can complete the task in 24 days. In @ wEd §, A SR CTE T 24 A7
now many days will they together [ &R FH €| 4 A ey 9w wm
complete the yask? frert fsi & T FH?
Wy 335 (B) 9.67 (A)933  (B) 967
(C) 1033 [(D) 1067 | (C) 1033 (D) 10.67
A man completes a journey in 5 hrs, He Q41 v st 5 62 & U TIE O &
travels first half of the journey at the rate 95 W used 3 W7 A 21 km ufy
of 21 km/h and the second half at 24 km/ HT W TR R s gen et wmr F 24
h. Find the total distance travelled. km/h T WY | uEr wwer &) o o5
{(AY 112km (B} 116 km T oL B |
(C) 120km (D) 124 km (B) 116 km
’ (C) 120 km (D) 124 km
2 The ratio of speeds of two trains is 5:6. Q42 =1 Yermfagl o5 "“IfET & IR 5:6 &)
The second train covers 450 km in 3 hrs. T YA 5 R A 450 km 78 Tl
What is the speed of the first train? B ugdli Y@ & afy e #7
(A) 60 km/h (B)-65 km/h (A} 60 km/h (B)-65 km'h

km/h (C) 70kmih (D) 75 kmih
(C) 70km'h (D) 75 km Jiuhriya.num
43 The length of a rectangular plot is thrice Q43 §@ ST g ® dard T hard
' its breadth. The area of the plot 768 m?. Ttaf.|_?l’,ﬁl v &S o ﬂ?ﬁm T6Emt &
Find the perimeter of the plat. TS P GRAW S |
(A) 120m (B) 124 m (A) 120m (B) 124 m
©) 128 m (D) 132m (C) 128 m (D) 132m
. &;i:;ialgit aumber ABC, Where A isatthe Q44 33/ ﬁfmmﬂgw At
. himdredih place, B is at'ihe tenth place m: 2 & v i ﬁﬂﬂﬁw &
L andC s at the unit's place, is re-writicn a5 }:“ D z':'r il iy m?ﬂ."ﬁq
§  ABCABC and is divided by the LCM of s A R PR
ind 13. What will bethe result? - it bl Bl . q-m |
) LR %, Lo O BCA T (D) ARG RS
T | e R R P =l N e B - s ] = F
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Q45 U 5 3] A1 T 247XE, 44 4 fingfy,
#ief & | @ a3 X uftrenfay o

045 A S-digit number 247X 8 is divisible by 44.
Which digit can replace X7

(A} 1 (B) 2 waell #7
(€) 3 (D) 4 (A) 1 (B) 2
(€) 3 (D) 4

Q46 Find the product of the square root of 256 Q46 256 713w oY 16 B WY & oy

and square root of 16 and then find the

wia @ e fe aRam & i g

result’s square root. ST i
(A) 4 (B) 6 (A) 4 (B 6
|{C} ] (D) 10 (C) d (1) 10

Q47 & wfiial ol g 9 2170 | @i @
wwdl &) g g s ar A s
# @i wr wa £ v wdl B e

Q47 Two chairs and a table can be bought for
T170. Five chairs and four tables can be
bought for T530. Find the cost of a chair.

(A) 240 [(B) 350 | A T
{C) 260 (D) 270 (A) 240 (B) T50
(C) 60 (D) 770

48 X @ U dw @R A 90.53 7 W E
267.14 W HE AR T70.16 A FeE
& are 9 ofyr T ey

048 X has a balance of 290.53 in the bank
account. What will be the balance lefi after
a deposit of ¥67.14 and a withdrawal of

www.jobriya.com

%* 270167 - = (A) T86.51 (B) 287.51
2 (A} T86.51 (B) 787.51 (C) 7851 (D) 279.51
(C) 7851 (D) T719.51
" Q49 TheHCFand LCM of twonumbers i§2 Q49 @ Wil @ wEeH wanEne 3
' e + anid 72 respectively. The bigger number is A T w2 @ vz € el
2 ‘mare than twice the smaller number. | i 9 e & 5 T 9 2 JEw &l
5 Find the smaller number. Biéh s s
(B) 6 (A) 4 (B) &
{0y 10 (Cy 8 (D) 10
_" ._9 T ﬂ-ﬁ-i‘E"E:E ﬁjﬁmwﬂl
- :E.ﬁmdﬂunaluec-f:, Q50 51076 2"
B3 (A) 12 (B) 15
: : B '.--;"-_-_";:,--_;':_ R |
| 0%t 0 Bs v org0n, | [Q51 B00F BS%T 120%% 40% g
(B) 320 (A) 288 (B) 320
(D) 400 (C) 360 (D) 400

Wrong Options
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052 afe vk avg e300 @ T g 7 T

IT an article was bought for 2300 and &
repairing charges of T30 was paid for it

20% profit on the marked price which is
10% of the cost price. Find the required
selling price (in ).

(A) 440
{C) 462

(B) 452
(D) 478

53 What is the total pereentage discount
applied when 2 successive discounts of
20% and 10% are applicable,
(A) 25% (B) 18%
(C) 32% (D) 36%

¥4  Find the rate of interest if the simple
interest an a principal of T1,000 pave an
interest of 440 in a span of 5 years.

(A) B.4% (B) 8.55%

(C) %.8% (D) 8.9%

955 Find the time for which compound interest
" of 2331 was generated on a principal of
’ 1,000 at an annual interest rate of 10%.

LS

.:f (A) 1 year
. (C) 2.5 years

5. A, B and C shared profits
-6, [f C"s share of the profit
n that A, find the total
them.

(B)y 1,600

(D) 1,730

Three pariner
i the ratio 4:3
“was 200 more tha
profit guneramd by
(A) 71,500
(€) T1,650

87 Three partners, A, B and C shared profits
: in the ratio 1 -3 :4, A new pariner D
half of the shares of each

s sined whi 100K _
J:I:-.ud C. If1Y's share of profit now isT100,

find the total profit
= (A) T200 _(B) T250
g (C) X275 (D) 300

and it is supposed o be sold at a profit of

()53

234

Q55

2 years '
]:D} Iyears|
obriya.com

Q56

¢ 250 seep b v A ord faa wa N
=) aifdier g v 20% AR Y adr A
aifee, o fb e g w1 10% B
arqyer fAa) = (2 H) S @

(A) 440 (B) 452
[(C) 462 (D) 478

P B arel e e g wm @ o
20% 17 10% @1 21 Far ge @ #
A 21 -
(A) 25% (B) 28%
(C) 32% (D) 36%

@rel e s @, o 71,0009 TEGT W
5 a1 1 afufer 7 W @R 7440 TTe

Cin e

A) 8.4% (B) B.55%
[f._C} %.8% (D) B.9%

T WAl B w6 e 11,0005
T U aifte 0% =na g 9 133
il wyfy @me e g 9|

(A) 1 (B) 2 o
(C) 2.5 EDJ 3%

i wEer, A, Bl C 4:5:6 F 3om
it am oo & ) afz w3 CH e A

@ g 4 1200 9w & & ST g
i B L 1 B2

Qs7

(A) T1,500 (B) 71,600 ,
(C) ¥1.650 (D) 21,750

W wEew, A, B CH 2:3:4%
[T A @ | UF T WEER D
il gan, et Al C el @ st
i1 9 arn fon fora ) o2 @R A Dy
feemr am 7100 & o @A A A B
(A) 2200 (B) 7250

(C) %275
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LRI T = -

el he followling aptions consisis
e I|I I':"':';“ words, Choaose the best pair 1o
|:-| -:l:,h with the ;:IHT i e question,
[ctor ; Muse
v (A) Judge : Loawyer
() Owner . Stall
() Chef :Waiter
() Baginecr : Driver

Q59 Select the alternative that is related 1o the
third term In the same way as the second
ter 1% related to the Tirst term.

POR:UTS 2 MM 2
) OFQ
(C) NML (1) PQO

Q60 Find the altemnative that can be a member
of the given groupéclass.
Pathalogy, Radiology, Cardiology
(A) Biology (B} Geolopy

(€) Zoology | (D) Hematology

Q61 Find the missing number: -
1,827, 64, 7

i.'-l'.:tﬁﬁlf

(R) 135
l‘:] 145 (D} 155

J.-.

Q62 Flruilhn missing number€ (X and Y) in'the
seéries and find the value of Y-X:
25 26,28, X, 35, Y, 46
(A} 7 (B} &

Y (N (D) 10

323 24 3'2 I.E 3243 311#0 77

X (A) 321200 [7BY 32 1440 |
{C.‘r 2. limﬂ G23(D) 64 1440

| " .r|.r
¢ -
1l|' ) s
'l
1 I'.l. i . iy
= &l ¥

jobriya.co

st il el A wew § g
alld ® 1wt W Ry AT O R N g,
fn ol e |
affaey

(A) ulvf : JiTE
1y wlerd « wER
(C) g 4w
(D) Fulle : aTETaE

Qs9 v Risen @ wae B @l dw
ol s Wl B R Ve g
el v A A
PQR': UTS i LMN :2
(A) OPQ (B) QPO
(C) NML (1} PQO

Q60 wu fmen &t s w @y ow
wE /@l @1 wEw B
fgifer frgm, amfn g, peasimiem
(A) silglidsm (uy prlees

(C) mivr fgm | (o) el
Q6! Fw.EE 5w W :

18,27, 64,7

[A) 125 (B) 135

(C) 145 (D) 155

Q62 HawT H T @ (X iy v) §0 7
L Y-X 1 A T Y |

25, 26, 28, X 35, Y, 46

(A) 7 (B} &

(C) 9 (D) 10

fed &

323,324,3212, Jz-u-: 32 240,77
(A) 321200 [(BJ 32 440 ]
{::} 32 aszn:lw-' (D) 64 1440

R} Wﬂww@rgﬁqmﬁﬁrﬁmﬂ
SR B .
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Fill the missing value in this series;
C28BA, FEAD, LHGE, 7

(A) JI6KL (B) L16GKJ | :
(A) JI6KL (B) LI6K)
(C) MI6NO (19) Ol6NM (C) MIGNO (D) OI6NM
a6 Which pair in the options will complete Q66 wedt 4 @ g Fefafa s
the following series;
Eal-Sl i
2a PR 4 ¥ ; 5 T 1
by | Bz (A) DY (B) D, Z
(C) E, Y (D) E, X C) EY (D) E, X
67 X bicycled 15 ki :
: north, then 20 kmto g7 X 3 15 km S § ok AR o A
his lefi. Aq least, how many more ks does I 20 km W T9E | I I 4@
he r!eled ko bieyele to retumn to his original I 6 789 @ A w9 9 w9 AR
position’ fitree i feeiie Trgie e @l gewd
(A) 35km (B) 15 km a7
(C) 20 ki (I3} 25 km D (A} 35km (B) 15km
(C) 20 km () 25 km :
068 Twocarsstart fromacommonpoint. The  Qag & wrl vas wwafie fig & 3o e &
| stcar travels north 10 km, turns left and UEell @Y Fo &l v 10 km B 9=
poes ghead for 8 km, The 2nd car goes el & @ gt & ofv At 8 km WA
south for 3 km, turns right and travels B 1 I 6N 5 km =0T ) wRE ol
km. What is the distance bewteen the g T ﬂE'T:ﬁ & 3 ot 8 km @ O
o cars? ' w @ | O @l @ e o gl a7
L (A) Skm (B3 10 km (A) 5km (B) 10km
. (© 8km (D) 15km (C) 8km (1) 15km
(69 X walks 3 km away from his starting Q69 X o yreamd) fiig 9 3 km werer &
point. He turns right and travels a further TE QY el § AR I8 km B A
8 km. He turns left and walks ahead, but T E | 7% 907 qew & AR AT aeer
" jotices that he is in the opposite direction &, SR o% e o o & i ow o
'I‘ ﬂf\’l‘hlt he is suppﬂsﬂd tﬂhﬁ |.|'|. He 51.ﬂ|:tﬂd fE?lT ﬂ’ ﬁqﬂﬂ ﬁ'-‘m ﬁ ? W Eﬂ a-'ﬂ
| by walking towards east. In which qET ol | TH1 74 7 THET YO )
4 direction is he supposed to go? o | 9H fm R A o &7
W (B) East  jobriya.com (A) S&R (B) g
i m (D) South (C) sftey (1) =&
|:] x'ill'lﬂls % km north, turns right and Q70 X, 5km W W A wve B, 48 o

. covers 7 km. He then turns right and
' vals 5§ km. In which direction is he
-‘;i{E-',I-EﬂII.- i -..;‘.

il
L T L T L +
FLNNEY, e

065

(C) ‘ﬂhﬁ b (D) SRk

§H e # e A T
C2BA, IE4D, INGS, ?

Fm?iﬁ?m?kmmilﬁﬂm
BT W B 3R amh Sk 9 T7ET Sy

B a5 fmw famn o oy ver @7
() IO (B) t!.s_l[ bR

ki

RN et e

1
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A statement i given below, Tollowed by
two conelusions- 1 oand 11 You have o
congider the statement t be true even 1
seems W be ot vitiance with commonly
known Taets, You huve o decide whiel of
the given conclusions, iCany, Tollows from
the given stutements,

Statement : Company ABC has marketed
the product with e follow g shopan: “Cig
ahend; purchase it if the price nnd gquality
are your eonsiderations™,

Conclusion 1: The price of the produg
st be high.

Conclusion 11: The product must be of g
good quality,
(A) Only conclusion | follows

(B) Only conclusion 1 follows .
ACT B0 Tand 11 Tallow
(1) Meither 1 nor 1l follows

]T E U7 A statement |5 given t-;mlluw. followed hy
".II

. Supponts the given statements,
it ¥

two arguments, 1 and 2, You have 1o
consider the statement to be truec even if it
- 3kems to be a1 variance with commonly

the given arpuments. ifany, is strong and
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nts 1: N, taxesaren
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Gy st 2, |
y s Ll Al g LT

ﬂium ion.”

L_If.nn-wn facts, You hl;wn_tﬂ decide which of

SRESAre & good source
2B for the governmen, o take steps

Ahese laxes are NOT

(71

Q72
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[wo statement are given below, followed
by three conclusions, 1, 11 and 111, You
have to consider the statement to be true
sven il it seems to be at variance with
sommaonly known facts. You have to
decide which of the given conclusions, if
any, follows from the given statements.

Statement |: Every man should have his
identity card with him

Statement 2 : That card should mention
his blood group, complete address and
telephone number for contact, in case of
SMErgencies.

Conclusion |; Blood CANNOT be

transfused until its group is mentioned in

the card.
Conclusion 11: Mo one is supposed to
forget his phone number under any
circumstances.
Conclusion 111: The police needs this
information ifthe injury is fatal.
(A) Only conclusion | follows
(B) Only conclusion 11 follows
| (C) Only conclusion III follows
(D) None of them follows

14 Which of the words CANNOT be formed
by the letters of the word

Qﬂ_nﬁﬁwmﬂammﬂ%mﬁ#ﬁﬁmﬂ
1, iR fag g #)| S g6 F
F G WA B, We 8 UE 9 A
o S el § e e B e
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i & g Preed, oft &8 8 Ry Ty
et 1 AFHT e B
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BT ey |
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anrd Fem (1] AFTERYT el 8
(D) ¥ ¥ DY T A B

Q74 “CARABINER™ ¥ & 3i#id] 11 Seme
i Tfem A T weE £7

“CARABINER” () Cnb  [3) Nine
- (C) Bare (D) Rice  jobriya.com

75 Which ofthe following words does NOT
have its vowels in an alphabetical order?
i. [.ih} ‘Agrious (B) Materious
- |(C) Imperious | (D) Facetious

76 Seloct the option that s related 1o the third
word on the same basis as the second
* o wpord is related to the first word,

TRyt

Q75 frfofm o=t f % A e & v

St aolare AR _TE 87
(A} Aerious (B) Materious
(C) Imperious {E_’}I Facetious

Q76 & fawey m WA & o e e @
T W Wl & fre v ¥ veey
Ve gHY W ¥ e #
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r Q77 Which of the following cubes in the Q77 R vy 4 frey o Gl Hrigfay

answer figure CANNOT be made on the i B §Y w B AR T T8 g m
basis of the unfolded cube in the question T 7 —
figure? =
D B¥ - |O
|+ |0

A — SLZ7
= = D) [
X TN I
© O (D) —
=~ a.com
Read the following information to 3% 7Y (Q 78 ¥ Q80) W w W
g answer the given (Q78 to Q80) Cl ferg < 1 ) S wleT |
uestions, Ermriying
14 ?’uihﬁngaulhemndilinm for issuing TR A w @ forg
A passpor, W # :
A} The applicant must be bom in (he A) SIS B T e B iR 21
“ountry or be married to a citizen of (e o TN T mfYs @ Ty [erameag B
COuntry afEg s
B)  The_applicant should possess the B) ¥gs & g AW, T R 9 @
R unique identity card for proof of name, B Ry afdd wmam gx e
5 address and age. . aiftm |
gt €} The candidate should produce 124 C) R e M i & o) 9
‘4 pass cenificate for education proof if NOT TG Fen g B @7
a minior, T & g
D) A minor is under IE}'Enrsufag:,A D) 18 o T TY o i) 9
minor should possess the unique identity TR & & T R o ET
card of either pasent, I AT 0 W e g
. E} For reissue of PRESPOrt applican) E) 9y T ol ) ey WEET
- Hould submit ol Passpart, For fresh jgsye ) THNE Fm @y gl N
ipplicant shoy)g submit affidgyiy. erm ELE VR M——
fi "w“-h"““wﬂnnwihurulnlh + 13 G
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“21=year-old Sam is married to Rita who is
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f_ﬂhm'-:- il applicant has NOT passed

the application is referred 1o passport
Difice.

) Eabove, in case the old passport is lost,

the application will be treated as a fresh
| issue.

Based on these eriteria-and information
provided below, decide the course of

action in each case. You are NOT g
assume anything,

| 3-year-0ld Vijay was bomin the country,
hasthe unique identity card, has NOT yet
passed his 12th and has his ald passpon,
Only his mother has a un ique identity card,
but his father does NOT as he was NOT
borm in the country,

!{M Allot Passport
ject Passport

(C) Refer 1o head office

(D} Data tnadequate

jobriya.com

acitizen of the country. He has the required
affidavit for a fresh passport. He has the
unique identity cards bath of himself as
well as his wife.

{A) Allot Passport

(B} Reject Passport
(C) Referto head office
(D) Data inadequate

Seema has [ost her old passpont. She is 75
years old, was born outside the country
mdjhn does NOT have the unique identity
card and is educated till the 10th, She has
lh;;flidn\rit. T

(A). Allot Passport

Q78

Q19

Q80
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(D) affers arquieg #
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Q81 Which of the following answer figure Q8! Freforftaa 3 9 ®F ¥ IR

|:i ;|
pattemns can complete the series given in Gt ue 3‘@1:5 LR H l{ﬂﬁl zﬁ‘;
hequestionfigure?  JOBRIYA,.COM - ¥ et Ll
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& AN & Y
& /l & /
(Ch
(C) (D) (L)
v b @ ® |
Q82 Which of the following answer figure W82 e # 9 @I ¥ S AP ¢
patterns can complete the series given in tert v sty <t e 1
the question figure? ' X w87
OO OO
b = = — -
8 O
Q83
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mirror 15 placed on the line MN, then
pich of the answer figures is the right
wage of the given figure?

B =
(A) (B)

= N

= =
(C) (D)

K M

185 A pieceof paper is folded and punched as
shown below in the question figures. From
the given answer figures, indicate how it
will appear when opencd.

o
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(D) jﬂqF:(

- RPTEE T

Arrange the following words as per their
order in an English dictionary and choose
the one that comes ﬁrst._ s,
previw, prtance; revious; et
(A) preview ~(B) preftier

(c) previous ~ [(D) Pretenee]

B it kot 4
| R VA L S

- g E

/ JOBRIYA.COM
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Qss Frefafan =t @1 ST Te@g @
wAOR v AR 9 TR WO Wy
waE 9B AT B B
preview; pretence; previous; pettier. |
(A) preview (B) preftier
(C) previous (D) pretence
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ST Asenies is given, with one word missing.

Chaose the correct alterative from the

given anes that will complete the series,
Retina, National, Algebra, Radiator, 7
(A} Apparel (B Military

() Ordinary (1)) Barometer

URE A series is given, with one term missing.
Choase the correct alternative from the

given ones that will complete the series.

FED, H1J, NML, PQR, VUT, 7

(A) 2YX (B) WXy

() X¥YZ (D) YXW

\IE9 A series is piven, with one word missip £
Choose the correct alternative from the
given vnes that will complete the serjes,
EEEEEEEFF, EEEEEEFEF,
EEEEEFEEF, EEEEFEEEF,
EEEFEEEEF?
{A) EEFEEEEF
(C) EEFEEEEEF

(B) EEEFEEEFE
(D) EEEFEEEEEF

W50 A series is given, with one number
missing, Choose the correct alternative

287 W W A o e q9 &) g
faravet 4 ¥ oftm fawey qﬁ'q:,mm
Byl e E

Retina, Natianal, Algebiy, Radiatg, +
(A) Apparel (B) Militay
(C) Ordinary (D) Haromer,
ﬁnﬁﬁnﬁﬁﬁwgﬁ31ﬁuq3
fomet 4 & Sftm fagen T o gy
& q}ﬂf B BT I

FED, HIJ, NML, PQR, VUT 2y Y2
(A) ZYX (B) WXy

O XYZ | (D) yxw

@ T A v T g e
Rl 3 9 of R ofi o 4 |
T Q8T T B j
EEEEEEEFF, EEEEEEFEF, I
EEEEEFEEF, EEEEFEEREF,
EEEFEEEEF?
(A) EEFEEEEF
(C) EEFEGEEEF

Q&g

Q89

(B) EEEFEEEFE
(D) EEEFEEEEEF

Q90 < Ty A A U 3w qga B Ry

fmedi 4 % sfir R afim S i
from the given ones that will complete the @ v T g
Series. 6.2, -3.5, 0.8, 7. 4.6
-6.2, -3.5,-0.8, 7, 4.6 (A) 1.9 (B) 1.7
(A) 1.9 (B) 1.7 : ()15 (D) 1.6
i) 1.5 (D) 1.6 jnhrlya.mlm
Q91 1 the 5t day of a month is Wednesday, Q91 e &l w8 5 qiean (3w ayEn g,
:-hi::l;t of the fﬂIIQWinEwnu[d be the 2ng ot Pt 4 a4 T e 3 A2
2y alter the 20th day of that month? @ f9d R @ a1z = e o
' ﬂ&ﬂmﬂ? (B) Sunday {A]'ngﬁaﬁ
(©) Sawrday | (D) Thursday (C) wifam (D) oar
Q92 ;Hrils is given, with one term missing, 092 wmad G ade Fore T g {61
oot e ot shmne o T e 3. e e
'::Er; Wﬂﬂ:splhni Will complee the serips. A o oy | 4
+BIFG, DIGs : P S ! |
(A) LaLg o : _:‘f:h?:ﬁ:ﬂlﬁﬁ;mw
int Y LaMg

I .."ﬂ.l_l: T L

Wk g+
. II:T'.K, ¥ ..-ﬁl.:.
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g codv language, 639 MEans ‘water jg
ik’ 36 means ‘juice g drink' and 219
Iﬂﬂﬁ “waler or juice’, Find he code for

|:|I
(B) 2]

(A) |
() 9 (D) 3

s Inacertain code. RICH is written g 4279
and SNOW is written as 8396, How s
COIN written in that code?
(A) 4547 (B) 90315
(C) 1901 (D) 7923

Q%4

195 Iinacertain code language, '+ repr:sn:nls
“w'y "' represents '+ ' representst 5
and' + represents *-', Find out the answer
of the following question.

&‘19 3+l 6% 2=79

(A) 9 (B) 8
(C) 26

(D) 5
296 [IFHELIPAD is coded a;.: JGNKRCE, then
how will BUY be coded as?
(A) ACE (B) FHJ
(C) DWaA (D) KMO

Q95

Q96

If A @ B means A is the grandson of Q%
B, A# B means A is the wife of B and if

A * B means A is the father of B, then

what does X * Y @ Z # W mean, if Z has

only 1 child? )
(A) W is the mother of X
[(B) W is the father of X
(C) X is the mother of W

(D) X is the father of W

Qa7

335 Ifl"'fﬁﬂmcnn._ri’iuqm fatherof Q; P 1Q
. means P is the sister Q and P * Q means
P is the daughter of Q, which of IE:
I'uﬁuwmg, shows I'I'lnl Iisthe 1isze: af h’.'.
. husband? o

(A I%GIH*K

(NG "H%K

Q98

(B 11G%H*K
(MI%GH!K

Q93 et @ s % 639 w7 ek 8 “water is

; =

i

drink’, 316 @1 aref 2 'juice is drink® 3w
219 o apf @ 'watururjulu. o
foe oe wm a
(A) 1
(C) 9

(B) 2

frsht R e ¥, RICH @t 4279 faran
WIHT & v SNOW w1 8396 formr wm
#| g9 g 4 COIN & foran mgerr?

(A) 4547 (B) 9033 ;
(C) 1901 (D) 7923

Fhelt Rrdty s aqpr 8 4, “x ’?ﬁﬂ?ﬁﬁ
m?"'-‘ﬁuﬁaﬁmﬁ' .
T T # AR e, W
qﬁﬁaﬂmérﬁnﬁrﬁuﬁmmﬁ

il Tl

0.34] + 622=7
TSEN (B) 8
(C) 26 (D) 5

gfe HELIPAD ®1 JGNKRCF ¥ &
75 famn amen B, @ BUY @ 69 T

¥ [ wmen?
(A) ACE (B) FHI
(C) DWA (D) KMO

T A@BEH el & i A, B w1 9N B,
AfBw ol 8 f5 A, B9 ol & afim

‘i A*BE i 2 5 A BT RAT R,

WMX*Y@Z4 W aoronf 8 oft 2.
o1 dae 1 TF B
(A) W XTI Al g

(B) W, X & o &

(C) K, Wi 7 &
(D) X, W firem &

ot py Q@ ol & fr B,Q & M.

P 3 & s P.Q# A&, :

plqmﬂﬂﬁﬁ!l’qw
ﬁwmﬂﬁﬂmmﬂmtﬁ;h"k%

afy 7 we #7 s

(A I%GIH*K

(CII'G*H% K

[HJI-!G%H'K
MI%G*TIK
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M osaid o N

Nou are iy davghier'y
!

AR mother 's son ™ How is N reluied
VR T T le?

VAR N the brother of M°s hushind |
TS NN T Tather oM

WY N s the tatherin-lyw ol M
LAY N s the son of M

the square
AcTOuNtants, (he trinngle
TEPIESEntS artists, (he cirele represents
Manners and the Fectangle represents e,
Which set of leters re
AT artisys?

Tepresents

Presents men who

(A) GH

(B) GAF

i) AB (D) AC

Q0L Which of the following Venn
best represents the relationshi
Rajasthan, India and Asia?

diagrams
p between

Q90 M A N& gy gy
at e gyen i
M U afye g
(A) N, M@ ufly gy a0
T"TNTFIW"'BJ
(C) N, M & vy #

(D) N,M gz @

Q00 Freferfa sy 4 7 AET 4
avlet 8, Beger waran o Ty
YR ANSTHT B 29 2 s At

ﬂ?ﬂﬁﬁi‘fﬁmﬁlﬁfﬂmﬂﬂﬂﬂﬁmﬁ
W ol @1 el & i wemmn o

o

(B) GAF
(D) AC

\A) GH
C) AR

leﬁﬂfalﬁa#%h?ﬁwﬂamﬁﬁ‘ﬂmﬁ
o I 3R ufimn @ dg o
?@aﬁmmﬂﬁmﬁ?




dent enrols for a 6 tegy serjeg to
e for an entrance exam. He plots
progress as aline graph. The line graph
qws the marks he scored in these 6 jagye.
 how many 1ests his name was listed in
e Hall of Fame? (Those students who
score more than 40 get the honour of
keing listed in the Hall of Fame)

JOBRIYA.COM
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| Bsa +
|u1|:| 3 b1
E]q 25
1
I 2 | 4 L1 i
Tesl N

ph shows GDP for the year
in billi 1), of six countries
7. in billion usoD,
E[:Iil' I have gnited (0 form a free ."aﬂn
:J H:Lr. GDPol which cnuntr}rmnsntule;
I;J;th' af the iotal GDP of these

i The bar gra

countries?
= = _.'—l—-_ 2k
_—._'_
= I |
[
| %
| Ense| im =
duse
5 ]
1 £
i L Eoumliy
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Q102 v% w15 wiy witen 7 dard = @ g

6 e Wim o fag agen 2w B
T8 U W A @ v A AR wf
wie W tﬁmmﬁw?;ﬁ?ﬁ:
e firy qu aas Al I
Bie it g 3 T e T
§ ey far mn wr? (39 0T A
Eer aife & § [elleg B B HR
i & R g0 7 s o e g
)

B
1
E‘“’ 1% ' 33
4 M
10
21

'||"r1 7 1 d 5 [ ]

i3

(A) 2
(B) |
(C) 3
() 4

Q103 7% st o 2017 @ g B dE @

oirrdt 1 fafaer angdielt sraw o fgamn
& W UF T @N wiiE g oy
oo #| o 2 1 ot ¥ 6 2t
a1 g ) @1 1 /58 w27

| EEH" nr

(A) A
(B) E
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Q04 Alloy | and alloy 2 are prepared by mixing
metals A, 1L, Cand D The pie chans show
the proportions of these metals in the two
alloys,

11 kg of alloy 1 and 2 kg of alloy 2 is
melted and mixed, then the resulting alloy
will comain what mass of metal B?

Alloy 1 Alloy 2

(A) 700 g (B) Eﬂﬂé |
(C) Mg (D) 50 g

Q105 Which waord does NOT belong with the
others?
(A) Blue

Q06 Find the odd letters from the given
altermatives,

() 0Qs

(B) Green
(D) Yellow

$1356d

(B) IKM
(D) VXZ

Q107 Choose the figure which is different from

=T

>

=l

=
O =@

i
=

[l R W (1

ﬁ Jobriya.com

Q104 ﬁ&u'lg]a-hfhumg:.q;;—,gul .
gl o e ﬁﬁﬂﬂ:ﬁm
& IO W e b
afZ 1 kg B8 O 1 3 2 4p e
lﬁmmgﬁﬁfﬁ-‘&aﬁm
mﬁ,ﬁwﬁmﬁge@ﬁgﬂ
B = g e g

1 sl

(A) 700 g
« (C) 70g

(B) s00g
(D) 50g

Q105 @+ W UR 4 TRl ¥ ¥Fn &7

(A) i - (B) &
(C) % (D) di

Q106 fw v fwedt # ¥ Rwn wm |
(A) GEC (B) IkM 2
(C) 0Qs (D) VXZ

Q107 9% wipfa 1 g4 Wit o Rt |

=N

(A) (B)

(C)
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e the Tigure which is different from

ses!
INW [wwMa
ZHM;H}NHJ
QTO|. O7Z7T
HQZ| [MT
Muwm]ng
| M T W N H

QI0Y Select the alternative that is related to the
third term in the same way as the second
term is related to the first term,
Wecklace : Jewellery = Pen : 7
(A) Paper | (B) Stationery |
(C) Writing (D) Book

Q110 Select the aliernative that is related to the
third term in the same way as the second

erm is related 1o the first ferm,
196 : 169 ::2744 . 7

) 427

(C) 2977 (D} 4192

11 From the given answer [ipures, select the
one in which the question figgure is hidden/

embedded

L]

‘= N

w2 (B)

Ql

jobriya.com E

e P 4
TNwl wWwma

w [Z H Mg |[NHJ
QTO O Z°T

@ (NOWlp|Q@2ZO
I MT W N H

Q:Iﬂﬁﬁﬁwwaﬁﬁﬁ‘:ﬁrﬂiwﬂ
) ove waaa & R ove 2 9S
w5 U8 9 WA #)

110G 169 2744 : 7
[(B) 2197

(A) 4277
() 2977 (D) 4192
Qi & T SRR gk A # 99 @ W
o ¢ foret e el Fifte B
o ST
£ Fﬁ’ﬁ.
a2 ® AL
A1 AKX

X
#F 4# (D) }{ %H
w'iréf} h‘ ey [
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GI [ 2 W UIRE Wi e LS TR ST W= T = T Q112 @ 5T

pattern in the question figure? Ty A I RE e A e

]
(A) (A)
|
(B) (B)
(D)
(C) (©)

{}!-IJ Which of the following answer figure QT3 Rrrafaifre 4 § 31 ot war Wl @

patterns can be combined. to make the flesf o)y Sﬂ?ﬁf oA & fw e
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